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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-

8-

Growing older and more decrepit appeared to be an ---------- and necessary part of being
human.

1) inevitable 2) intangible 3) unforeseecable 4) unsentimental

I don’t really think I’d have the ---------- to finish a marathon!

1) concern 2) candor 3) endurance 4) autonomy

Her marriage started to improve once her husband finally ---------- he had an anger
problem and bhegan to take counseling.

1) identified 2) emerged 3) hesitated 4) acknowledged
Society is an interdependent system that ---------- widespread cooperation to function.

1) proceeds 2) requires 3) fascinates 4) conveys

Our blue planet is a ---------- . Life depends on water, yet in its natural form, the water in
the oceans will not sustain us because we cannot drink salt water.

1) refuge 2) remedy 3) paradox 4) vacillation

I thought I was buying a/an ---------- native Indian carving, but discovered later that it
was machine-made.

1) genuine 2) definitive 3) secretive 4) artificial

The entrepreneur had a well-deserved reputation for ---------- , having accurately
anticipated many changes unforeseen by established business leaders.

1) modesty 2) hindsight 3) prescience 4) extroversion
Studies of longevity among turtles are sometimes ---------- by the fact that the subjects
live so long that researchers retire before the studies can be completed.

1) stabilized 2) hampered 3) diversified 4) veritied

Kevlar is a ---------- new material which is used for everything from airplane wings, to
bullet-proof vests, to hockey sticks.

1) prescriptive 2) versatile 3) dormant 4) derivative

10- If exploitation of the planet’s resources continues as at present, then the lifestyle we

currently enjoy ---------- the risk of causing significant damage to the world.
1) proposes 2) puts 3) shapes 4) runs



Y i 426E AYYF 05) 55 58LaS o5 al9iK5 gus

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Scientists and philosophers have been grappling with the relationship between
language and thought for centuries. There have always been (11) ---------- that our
picture of the Universe depends on our native tongue. Since the 1960s, however,
(12) --mmmmmee- the ascent of thinkers like Noam Chomsky, and a host of cognitive
scientists, (13) ---------- that linguistic differences don’t really matter, (14) ----------
language is a universal human trait, and that our ability to talk to one another owes
more to our shared genetics (15) -----—--—-—-- . But now the pendulum is beginning to
swing the other way as psychologists re-examine the question.

11- 1) that they argue 2) those who argue
3) an argument by those 4) arguing those who
12- 1) with 2) for 3) by 4)in
13- 1) whose consensus 2) who has the consensus
3) the consensus has been 4) is the consensus
14- 1)a 2) the 3) what 4) that
15- 1) and our cultures vary 2) than to our varying cultures
3) than our cultures that vary 4) as to our varying cultures

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Agricultural biotechnology refers to a range of tools, including traditional breeding
techniques, which alter living organisms, or parts of organisms, in order to make or
modify products, improve plants or animals, or develop microorganisms for specific
agricultural uses. The essence of agricultural biotechnology is to provide farmers with
tools that can make production cheaper and more manageable, and also to help in
genetic modification of crops for human consumption. Agricultural biotechnology has
been considered an environmentally sustainable technology that would benefit the
poor on a larger scale, improve food security, and gain agricultural profits in the
developing countries. With such technology, one can create a crop that is herbicide
tolerant, bacterial, fungal, and viral resistant, insect and pest resistant, and abiotic
stress tolerant. These potential benefits are seen as a moral imperative to advance plant
molecular approaches. Genetic Modification (GM) of crops is a technique that
involves the transfer of a genetic material from one organism, including plants,
animals, or microorganisms, into a different organism, modifying the plants’
characteristics. Proponents of GM crops consider agricultural biotechnology as a
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16-

17-

18-

19-

20-

moral imperative for the needs and demands of people in developing countries since
this technology will contribute to increasing the productivity as well as enhancing the
nutritional characteristics of the crops. However, opponents disagree and consider
agricultural biotechnology as being morally irresponsible for forcing the farmers to a
reduced production and subjecting the poor in developing countries to starvation.
Besides, the opponents believe that the giant biotech corporations have taken
advantage of the technology for their own profit motives and demonstrated disregard
towards providing a product that would solve the food security issues. They have
argued whether agricultural biotechnology would add beneficial values towards food
production, enhance well-being, human health, and nature or not. In addition to the
cultural concerns about this technology, there are ethical concerns that have been
raised by the opponents about GM crops. These include the artificial nature of the
technology, environmental release of GM crops, negative impact on human health,
negative impact over farmers, and excessive domination of the corporate firms.
Nevertheless, experts in the field have put forward strong arguments against all the
concerns of the opponents.

According to the passage, all the following statements about agricultural biotechnology
are true EXCEPT ---------- 2

1) It 1s considered detrimental to the environment

2) It can aid in genetic modification of different crops

3) It can make production cheaper and more manageable

4) It refers to a range of tools that change living organisms

According to the passage, the crops which are made using biotechnology have all the
following features EXCEPT ---------- 3

1) bacterial resistant and insect resistant

2) fungal resistant and biomass tolerant

3) herbicide tolerant and pest resistant

4) viral resistant and abiotic stress tolerant

What is the author’s attitude towards agricultural biotechnology?

1) Admiration 2) Disregard 3) Indifference 4) Suspicion

The passage probably continues with a sentence about ---------- .

1) environmental release of GM crops

2) the ethical concerns about GM crops

3) the arguments put forward by experts

4) the cultural concerns about biotechnology

The word ‘these’ in the passage (underlined) refers to ---------- :
1) cultural concerns 2) ethical concerns  3) the opponents 4) GM crops
PASSAGE 2:

The term ‘epigenetics’ was first coined 77 years ago, and epigenetics research has
recently begun to expand rapidly because of rapid advances in genomic technologies.
Epigenetically acquired traits can be inherited transgenerationally without changing
genomic DNA sequences; therefore, epigenetics has important implications for
reevaluating the theory of evolution. Broadly, the term ‘epigenetics’ refers to the study
of various chemical modifications of chromatin (e.g., methylation of DNA, attachment



8 axiuo 426E AYYF 05) 55 58LaS o5 al9iK5 gus

21-

22-

of chemical moieties to histone proteins, and various RNAdependent processes
influencing chromatin structure), that promote or repress the expression of specific
genes in response to developmental and environmental triggers, without altering the
underlying genetic code. Another definition of the term “epigenetics’ restricts the term
to ‘transgenerational heritability’ of relatively stable and heritable chromatin
modifications and also their phenotypic consequences. Methylation of DNA can be the
major epigenetic mark that is stably inherited for multiple generations through mitoses
and meiosis, while histone modifications and small RNA molecules may also
contribute to transgenerational transmission of epigenetic memory. It should be noted
that DNA methylation, histone modifications, and small RNAs generated by RNA
interference (RNA1i) are tightly interconnected epigenetic mechanisms in plant
genomes. In particular, different histones can be modified at different positions by
different chemical marks, which can alter accessibility of DNA and enhance or repress
gene expression. Acetylation of Histone H3 and H4, and methylation at Histone H3
Lysine 4 (H3K4me), Lysine 27 (H3K27me), and Lysine 9 (H3K9me) are the most
well-studied modifications in plant systems. H3/H4 acetylation and H3K4me are
highly conserved among eukaryotes including plants, fungi, and animals, which are
associated with gene transcription. H3K9me is also well-conserved in various
organisms, and is tightly linked with DNA methylation and small RNA biogenesis that
are important for maintenance of repressed chromatin states.

According to the passage, all the following statements about epigenetics are true
EXCEPT ---------- ‘

1) It has a very long history

2) It has more than one definition

3) It can aid in reevaluating the theory of evolution

4) It refers to the study of chemical modifications of chromatin

According to the passage, all the following statements about epigenetic memory are true
EXCEPT ---------- .

1) Histone modifications may contribute to its transgenerational transmission

2) Small RNA molecules may contribute to its transgenerational transmission

3) Methylation of DNA as a key epigenetic mark can have a contribution to it

4) It is always formed during one generation through mitoses and meiosis

According to the passage, all the followings are among the most well-studied
modifications in plant systems EXCEPT ---------- .

1) acetylation of Histone H3 and H4

2) acetylation at Histone H3 Lysine 27

3) methylation at Histone H3 Lysine 9

4) methylation at Histone H3 Lysine 4

According to the passage, all the followings are among the tightly interconnected
epigenetic mechanisms in plant genomes EXCEPT ---------- s

1) DNA methylation

2) histone modifications

3) genomic DNA sequences

4) small RNAs generated by RNA interference

The word ‘maintenance’ in the passage (underlined) is closest in meaning to ---------- .

1) breakdown 2) convention 3) modification 4) preservation
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26-

27-

28-

29-

30-

PASSAGE 3:

Agriculture 1s the first human activity that helped humanity to advance and develop.
Nowadays, food industry and farming are the most critical activities worldwide.
Agriculture 1s also the backbone of any economic system for any given country. It not
only provides food and raw material, but also employment opportunities to very large
percentage of the population. The global food supply is annually reduced by an
average of 40% demonstrating that our collective battle against diseases and pests of
crop plants is not won. Indeed, the emergence and spread of novel and highly virulent
crop diseases suggest that the situation may in fact be worsening. Plant diseases can be
caused by different types of fungi, bacteria, viruses, and pests. Diseased plant
symptoms can include leaf spots, leaf blights, root rots, fruit rots, fruit spots, wilt,
dieback, and decline. The major impact of plant diseases is reducing the food available
to humans by ultimately decreasing crop yields. This can result in inadequate food to
humans or lead to starvation in some areas. Plant disease recognition is of utmost
importance in order to recommend and choose the proper treatment for diseased plants
and also prevent infections of uninfected ones. Plant leaf is the most common way to
detect plant disease as it shows different symptoms for different diseases. Discovering
and subsequently treating plant diseases can be done by the naked eye of an expert by
manually examining the plants on site, yet this process is costly and slow. Traditional
image processing techniques provided reasonable performance regarding plant disease
detection using leaf images, yet those were limited to using small data sets and
producing theoretical results. For this reason, the need for partially or fully automated
plant disease detection systems is a major growing research area.

According to the passage, all the followings are among the causes of plant diseases
EXCEPT ---------- ;

1) bacteria and fungi 2) fungi and chemicals
3) pests and fungi 4) viruses and pests
It can be inferred from the passage that ---------- .

1) Agriculture does not play a role in developed countries’ economy

2) Humans have successtully won the battle against plant diseases

3) Observing a plant’s root is the best way to detect its diseases

4) Discovering plant diseases by manually examining the plants is costly and slow

The word ‘backbone’ in the passage (underlined) can best be replaced by ---------- 1

1) dissolution 2) intemperance 3) mainstay 4) spinal column
According to the passage, all the followings are among the symptoms of diseased plants
EXCEPT :occcciise .

1) root rots and fruit rots 2) fruit rots and fruit spots
3) root rots and root blights 4) leaf spots and leaf blights
The passage probably continues with a sentence about ---------- §

1) automated plant disease detection systems
2) image processing techniques

3) examining the plants on site

4) plant disease recognition
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